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QUESTION NO: 1

Which commands are required to configure interfaces 1 /1/1 and 1 /1/2 as VLAN 10 access ports in ArubaOS-CX switches?
vian 10interface 1/1/1-1/1/2 $ &nbsp&nbsp&nbsp&nbspanbsp&nbsp no routing 5 5 &nbsp&nbspanbspanbspi&nbspi&nbsp access vian 10 %
vian 10 interface 1/1/1 % &nbspEnbspanbsp&nbspanbspenbsp access 10 3 interface 1/1/2 § Snbsp&nbspanbsp&nbspanbspanbsp access 10 3
vian 10 interface 1/1/1-1/1/2 % Bnbsp&nbsp&nbsp&nbspanbsp&nbsp no routing § § &nbspa&nbsp&nbspa&nbsp&nbsp&nbsp vlan access 10 %

interface 1/1/1 £ &nbsp&nbspa&nbsp&nbspinbspinbsp vian 10 5 interface 1/1/2 5 &nbspinbspinbspinbsp&nbspa&nbsp vlan 10 &

A. Option A
B. Option B
C. Option C
D. Option D

ANSWER: D

QUESTION NO: 2

Which statements are true about a router? (Select two.)
A. They are considered layer two devices.

B. They utilize protocols to learn all possible paths.

C. They are considered layer four devices.

D. They are considered layer three devices.

E. They analyze source addresses to learn paths.

ANSWER: D E

QUESTION NO: 3

Why do clients run the Address Resolution Protocol (ARP)?

A. To discover the destination address of the Layer 3 header of IP packets.
B. To discover the source address of the Layer 3 header of IP packets.

C. To discover the destination address of the Layer z header that encapsulates IP packets.
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D. To discover the source address of the Layer z header that encapsulates IP packets.
ANSWER: B

QUESTION NO: 4

Refer to Exhibit.

%, 1

.

PC Switch-1 Router Switch-2 Server

The PC is sending a message to the server. Which devices have performed Layer 2 encapsulation by the time the message
arrives at the server? (Select two.)

A.PC

B. Server
C. Router
D. switch-2
E. Switch-1

ANSWER: D E

QUESTION NO: 5

What are characteristics of Aruba Central? (Select two.)
A. It must be deployed as an on-premises server.

B. It manages networking equipment using SNMP.

C. It manages networking equipment using HTTPs.

D. It can manage third-party networking equipment.

E. It is considered cloud-based network management.

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

DUMPSQUEEN

ANSWER: D E

QUESTION NO: 6

Which organization is in charge of determining the International Standards?
A. Institute of Electrical and Electronics Engineers

B. Wi-Fi Alliance

C. Federal Communications Commission

D. Internet Engineering Task Force

ANSWER: D

QUESTION NO: 7

Which protocols operate on the Management Plane? (Select two.)
A. Transmission Control Protocol

B. Address Resolution Protocol

C. Spanning Tree Protocol

D. Hypertext Transfer Protocol Secure

E. Secure Shell

ANSWER: CE

QUESTION NO: 8

Which message is an example of Broadcast communication?
A. DHCP offer

B. ICMP echo

C. HTTP Get

D. ARP Request
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ANSWER: B

QUESTION NO: 9

Which device provides high ethernet port density for connecting wired clients such as computers, IP phones, and printers?
(Select two.)

A. Wireless Router

B. Router

C. Access Point

D. Multilayer Switches

E. Switches

ANSWER: C D

QUESTION NO: 10

Which Wi-Fi technology assists with data privacy on open networks?
A. Simultaneous Authentications of Equals (5AE)

B. Opportunistic Wireless Encryption (OWE)

C. Commercial National Security Algorithm (CNSA)

D. Wi-Fi Protected Access 2 (WPA2)

ANSWER: D
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